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' ENGLISH LANGUAGE

Directions (1-10) : Read the
following passage carefully and an-
swer the questions given below it.
Certain words/phrases have heen
printed in bold {o help you locate
them while answering some of the
questions.

There was once a jackal that
lived in a forest by the village along
with zll the other animals. Now,
this particular jackal was adven-
turous and often sirayed into the
village in search of cooked food. It
was niot a particularly easy thing to
do as he knew that the villagers

would capture him if he were
caught. Besides, the village was
full of dogs and the jackal was
afratd of them. They wers sure to
kill him or hurt him badly if they
ever managed o caich him. But
the lure of food proved top strong
for him and so the jackal used to
visit the village frequently.
*7 Oneday, just as he was about
to enter a big house he heard the
sound of barking. To his horror he
saw a group of dogs running to-
wards the house, They looked
flerce and the jackal was soon
trembling with fear. He ran hap-
hazardly and tumbled right inside
a tub of blue dye. The dogs didn't
see him and ran the other way. By
the time the jackal climbed out of
the tub he was dyed blue from head
fo foot. He looked strange and to-
tally unlike any other anirnal.

The jackal was very happy.'

“No one will be able to recognize me
now" he said to himself, *I can eas-
ily fool everyone in the forest.”
When he entered the forest once

again everyone was surprised to see

‘such a sirange animal. They had

Tiever seen any animal of that co-
lour before. “Who are you? the

+ . smaller animals asked hirg, “"Where

ave you come from? asked the

| mighty lon with a frown, “Lord In.
' ._.._ﬂra, king of heaven, has sent me to

look after you" said the bhue jackal
in a grand voice, ‘Tl be your king
from now on.” “But I have always
been the king of the forest” protest-
ed the mighty llon. “All that must
change now as [ am the king" satd
the blue Jackal enjoying himself,
“all of you must serve me and do

exactly as I tell you." *What if we
.don't 7" asked the Tiger. “Then Lord
Indra will destroy the entire forest
and all of you along with it" said
the blue jackal. The animals did not
dare to say anything more. “What
would you like us to do?” They
asked the blue jackal, “Bring me
lots of food, to start with” said the
blue jackal prompily. “T am hungry
and can't take care of you unless [
am properly looked after,”

The animals rushed off in
search of food. They took care to
bring whatever they could find and
offered the best of everything to the
blue jackal. The jackal was happy
and had his A1l The animals prem-
ised to serve ki faithfully. He as-
signed special dutles to all the an-
imals but banished the pack of
Jackals from the forest because he
was afrald they might recognize him
some day. The blue jackal had a
wonderful time after that,

One day something unexpect-
od happened. The banished pack of
Jackals was roaming just outside
the forest and howled together
loudly. The blue jackal forgot him-
self and joined in the howling just
as he used to do before. The other
animals were present when it hap-
pened and stared at him incredu-
lously. Here was thetr mighty blue
king howling just itke a jackal | So
he was a jackal after all and not a
Strange creature sent from heaven
| He had merely been fooling them

all these days | Well, they were not

gomg to be fooled any longer. Th
fell upon the blue jackal and kﬂlg
him before he couid explain or pro-

test, and that was the end of the
blue jackal's reign as kingt

1. Whiy did ﬂ‘lejacliél:lic'eﬁgm% K
tothevﬂlage‘?,‘_ L l
(1) Because he had may, !
friends in the village,
(2) Because he loved the fopq
the humsns prepared. |
(3) Because he wanted to g
away from the pack of jack.
als. '!
{4) Because he was not gl
lowed in the forest. ‘
{5) Because he wanted o be.
come the king.
2. How did the jackal change his
colour ? '
(1)He got himself a skin
treatmnent.

(2] He prayed to Lord Indraty
change his colour.

(3)He wore a set of blue
clothes.

(4) He tumbled inside a tub
containing blue dye.

(5) None of these

3. What could be an apprepriate

title jor the story ?
{1) The foolish animals
(2) The pack of jackals
(3) Lord Indra, king of heavens
{4) The blue jackal
(5} Power of blue
4. Why did the jackal banish the
paic}: of jackals from the for-
es

(1) He feared they would be
Jjealous of him. .
(2) He feared they would not
accept him. :
(3) He feared they would, rec
ognize him, :
(4) He feared they would tel
the Lion, the king of the
forest, :

(5) None of these -
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8. Why did the animals in e -

forest readily morept the
jackal as theti king
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. Becausehe claimed he was
1 §sent by, Lord indra to Jook
; after them.
jBecause the Lion who was
% ithe king of the forest was
; ‘ot doing a good job.
(B}":Because the Lion had ac-
: -.:ceptcd him as the king.
6. What was the first demand of
the biue jackal ?
(1) That he be served at all
. tmes.
(2) That the pack of jackals be
_ banished from the forest.
{3YThat he be given a grand
“ceremony as king.
(4) That the animals in the
- forest worship him.
(5] That bhe be excluded from
all work in the forest,
Directions (7 - 8} : Choose
the word which is most nearly the
SAME in meaning as the word
printed in bold as used in the pas-
sage.
7. FIERCE
(1) Daring
(3) violent
{5) Harsh
8. LURE
(1)Reward  (2) Desire
(3) Happiness (4) Scent
(5) Temptation
Directions. (9-10) : Choose
the word/group of words which is
most oposite in meaning to the
word/group of words printed in
bold as used in the passage.
9. UNEXPECTED
(1) Noticeable {2) Pleasant
(3) Ordinary . {4) Original
BpUSHED |
(1) Secluded (2) Embraced
3 included ; (4) Loved
(8 pelivered.

H
H

(2) Solid
(4) Trained

10.

| the context of the sentence, then

i

- FIREIR R 3}
Directions (11 o 1dl'hcad B

€ach sentence to find out whether
there is any grammatical efror or
idiomatic error in it. The error, if
any, will be in one part of the sen-
tence. The number of that part 15
ginesanawer. If there is "No emror’, the
wer 18 (6) L.e. ‘No error’. Ignore
errors of punctuation, 1f any.l}

11. The employee was {1)/ asked
to leave her job (2)/ as she
was not (3)/ performing well,
{4)/ No error (5)

12. In school {1)/ we have to en-
rolled (2)/ in sports (3)/ and
music classes. {4}/ No exror (5)

13. This report (1)/ highlights on
{2}/ the need for (3)/ further
research. (4)/ No error [5)

14. My hest friend (1)/ left the
country, (2)/ 1 hope to hear-
g (3)/ from her again soon.
{4)/ No error (35)

‘18. She is pretending (1)/ to be
sick (2)/ because she dom't
{3)/ want to study. {4}/ No er-
ror {5)

Directions (16 - 20) : In the
following questions, four words are
given in bold. One of these words
given in bold may be wrongly spelt
or inappropriate in the context of
the sentence. Find cut the word
that {s inappropriate or wrongly
spelt, if any. That word is your an-
swer. If all the words given in bold
are correctly spelt or appropriate in

mark ‘All carrect’ as your answer.

18. The jackal wondered out of
the jungle he lived in and
reached a deserted batile-
field.
(1) wondered
(3) deserted
(4) battiefield
(3) All correct ‘

17. Shaggy, the rude glant, owns
a beautiful garden but never
allows anyone to play in it.
(1) rude (2) giant
(3} beautiful (4} allows

(2) reached

(2) enchantress i
(3) imprisoned * ,
{2) climb : P
(5) All corvect :
19. Lucy was surpised to know
that her hare could talk and
decided to take him on a trip
to the market, '
(1) surprised ' (2) bare
(3) decided {4) trip
(5) All correct '

20, Mandavi was awhite flee who
lived in the folds of an exquis-
ite white silk sheet that cov-
ered the bed of a King.

(1) white {2) flee

(3) exquisite  (4) covered

(8) All eorrect

Directions ( 21 — 285) : Rear-
range the following six sentences

(a), @, {C). (D), (E) and (F) in the

proper sequence to form a meaning-

ful paragraph; then answer the
fquestions given below them.

{A) The next day, the priest
discovered that one of the
servants cut his stick
shorter by two inches,
fearing that it would
grow, .

(B) When the priest ques-
tioned each of the ser-
vants, they denied.

(C) Ome day a rich merchant's
house was robbed, and he
guspected one of his ser-

. vants.

(D) In this way, the wise old
priest caught the thief,

(E} He approached the wise
priest in the village and

asked for help on the

. matter.

(F} The priest then gave them
each a stick of equal
length and said that the
atick of the real thief
would grow by two inches
the niext morning.

(5) All correct ¢ :

18. Rohini has to live in a tower|
and let down her hair whenev-!

oyt

u
i
a
b

21. Which of the following should.
be the SIXTH (LAST) sen- ' -
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LT - ~The stood where | g, 200+ 7 =48% of B . iapidsy OB
tence after the rearrange l;:ﬂ&d hem o fecling 88, 90% of ") ool 50 P fotal
b h 1, he suddently be- ~ 10% of 150 - of Hpasens
mr @B ‘:a.ze :\s:ryeuﬂ:lat.no one was - (1) 500 @2 2 cday b
; Bc W E ing him. The people werc now fol- {3189 {9) 35721 ' gatu*
' ) D lowing his master and bowing to (6) None of these 0 1
272, Which of the following should | the idol. The donkey realized his | g4 1) gxB8.9%x51="? ) 4 3
be the FIFTH sentence after | {80) and feeling ashamed of himself, (1) 398.264 (2) 664.858 ,
the rearrangement ? ran to rejoin his master. 468. 408  14) 526524
A @ D 26, () piece  (2) tmitation @ » ®8
@ c 4 B () feature {4} art (5) None of these -
5 E [5)dcalgn . a7 2637“'36:? 2) 68 (5}35
23. Which of the following should | 27. () wished (2 knew (1) 73.25 ) iy hatis 8
be the SECOND sentence af: {3 enjoyed  {4) thought (3] 683 @) 8 sitors b
ter the rearrangement? {5) aatd (5) None of these doys- FY
(LB @ ¢ 28. (1) steadlly  (2) willingly | 38. 18 x 8+ (A= (15 sunday *
B E B (3) abruptly {4} smoothly (s (2) 81 (1) a18
B)F (5) quictly {3) 18 4 27 P 452
24. Which of the following should | 29, (1) cancelled (2) disregarded (5) None of these 428
be the FIRST scntence afer () began  ()resumed | 38, 66% of 546 - 43% 0f439 = ? ©
m"é‘mg"m‘;‘; 5) stopped (1}10857 @117 44, The nun
i g] 2 30. (1) outcome  [2) foolishness (3)13863  (4) 171.58 seum C
. {3) fantasy  (4) behaviour fthese mately
8 E % {6) None of these wednes
25. Which of the following should (6] condu 20. (628 + (142 = (I° + 559 (1) 20
be the FOURTH sentence af- ' 56 48
o the T 7 NUMERICAL ABILITY () 2) @) 38
carrangemen (3) 59 @ 53 25
1} A (2 E Dizections : (31-40] : What (5) None of these (8.
3) B @ F should come in place of the ques- : : 48. What s
(6) D Hon mark {7 in the following ques- | Directions (41-45): Study the tween t
Prections (28 - am : In the Hons 7 fonomﬂg table cmmuyandanm to-rsto
following passage there are blanks, the given questions. day am
each of which has been numbered. 16x11+46 _, This data is regarding number the tot
These nnumbers are printed betow * 18%8-30 of visitore to five museums — A, )
the passage and against each, five B, C, D and E in five different days Muser
words are suggested, one of which 2l sl of one particular week — togeth
fits the blank appropriately. Find (1) 23 @ 37 Wednesday, Thursday, Friday, ) 25
out the appropriate word in each ' . o Saturday and Sunday. 3) 24
case. 2 8 Musenm/ [ A|B | CI DI B
an idol-maker had to delwer | @ ¥7g @ 33 Doy | 17w _;:‘eii
oy {5:’ dm;“fsmm‘mﬁfiﬁwwhg © (6 None of these Wedneaday | 144 |123 | 112 92 | 120 anum
S their jourmcy. The 1doi-meker | 32, 39852 + 7 =81 12 Thursdey |168{129 {121 102]3 —
was extremely sidlled at his job and. Friday 2431152 | 163] 184| 15 that r
this particular (26) was one of the ()41 (2} 1849 Saturday  |685 1408 | 486{501) 51 ()82
best he hed ever made. Whoever (3) 1681 {4) 43 lsunday  |712 702 |72 725) 685
saw it stopped to bow down and (6) None of these {3) 34
41. On Monday, the total number
m Joakey w‘%ggﬂx{: 83, 44% of 766 + ? = 900 of visitors to all the given -, )N
"ty pleased and flattered, He didmot | (149848 (2)562.96 Museums together was 25% - Wha
wigh to go away from the place (3)57480  [4) 44464 T than thar o Sundey.  the (
! where he was held in such high (5) None of these at was the total number o folion
| Lihought, and so he stopped @8). | 34. 679 of (7 = 5287.84 visitors to all t!}e given | s
Jl His master ceaxed him to ) ; Museums together on Monday? |
‘| étart walking agatn, but he did not )6ea2 (1) 4260 (2} 4852 W
J¥ield. Finally his master Hfted the | (98938 (46739 (5) 4275 (4 4146
“Lidol on to his own head and [29) (3) None of these (5) 4870 =
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i Qr -
-} The total number
l"i"— aaﬂ 4. piusclun Dml::l Tﬁﬁm 48, The simple interes "
b Friday together Is what a amount of Rs + accrued on wds ad e
72 B ol mamber of et | - o of 6 years 12,450 at the added, ‘As a yesull .-
o Museum B on m;am What 19 t{le:r:;t‘: R:‘! 8.964. mmnrctﬁe of wates in the
. 9 . came
';4 ;3 Saturday together ? ﬁfg)'a' kg Interest the value of x? 16%. What 1s
5, 101 10 @ 27
521 1 3 2) 44 40 (5) None of thes:‘] 12 @B = (4] 368
. A plot of 575 5 2
1 gquare fect .
@ 35 @ 2By 2000 . 21 the rate of 15 | B4. The compound tatereat (com-
of the totalsqm feet, If 25% pounded anmualty) on Ra. 9300
{5) 85 ' fo be pﬂldc[?“ of the plot is for 2 ycars at the rate of R%
(5. What s theaverage numberof | a0t Bow i ooKing the pa. ia Rs. 4092. Had the rate
days- Friday, Saturday and (1) Rs. 825750 terest on the s been the 10
Sunday ? (2) Rs. 700625 money ?:r ih: ::rt:: sum of
g} :;g 2} 402 {‘g;:: 875250 riod of 2 years ? mme e
73
3;3 =7 5 425 (4) 456 (5) None 05?310& {1) Ra. 1945 (2) Rs, 2046
5 #.THe . B0, If the product of twa (3) Ra. 1674 (4) Rs.2037
59 : The ur:l::mhl:er of visttors to Mu- aive positive integers 1o 7252, {5) Rs. 1953
O et poreat e which f the greater ntegen 2 | 25 D5 monthly selary i0 7o o
5 y at percent from (1) 87 (2) 82 A's monthly salary. From his
Wednesday to Friday ? 98 (4] 89 salary, A spends 25% towards
(1) 0 2 34 (5) None of these m;‘: jﬁ. dtc}?t;rds miseel-
:g; 2: (4) 50 51. There are four consecutive remaining amount?.A mve?tg
o positive odd numibers and four 405 in shopping and now is left
udy the . What is the respective ratio be- consecutive positive even with Rs. 22,560, What is B's
s TSI | s Dae
eu ' - + 75,000 °
— dayand"lhursglay wﬁd odd number 1s sgilmms th; (2) Rs. 84,000
et tre total mumber of visitors to sum of all the four consecu- (3) Rs. 80,000
it dap Museumn B on the sarne days tive odd and even mumbers ? {4) Re. 76,000
ek ~ together ? (1) 92 [2) 108 (8) None of these
riday, (1) 25:23 (2) 27:22 13) 83 (4) 86 56. The owner of a Television shop
o @ 22:28 (4)28:10 (5) 98 f:fgea hl& customer 16%
1| B {6} 26:21 2. re than the cost price. If
| | Py i Tt‘:: respective ratio between customer paid Rs. 13588 for:
B . The difference between 56% of positive numbers X' and | Television, then what was th
31 anumber and 41% of the same ¥ i34 : 7. Now, X1s increased cost price of the Television ? )
2]1 number 8 660. What is 8% of by26%and3isadded toit. ¥ 1 (1) Rs. )
al1 that number ? 15 douibled and 3 is added to t, 14300
s {11321 (@) 336 The respective ratto of the (2} Rs. 15500
; - 9 345 resultant X and Y becomes 2: {3) Re. 13800
ﬁ . 4) 858 5. What 18 the origirial value (3) Rs. 12000 $o
(5) None of these of Y? : - (5) None of th
g™ 47, What should lace ¢ ma2’ @ 12 e e
' the come n place of . 7. The average age of a man and
i s question mark (?) in the 3 21 {4) 10 his sen s 48 years, The ratio
per® ) owing number series ? _ (5) None of these ;f v:hl;ir ;?;estis 11 : § respec
gy_;o: 5 17 53 161 48 ? | §3.In a vessel, containing 60 meir;ges :ﬁ;gl t’_;.?uo of
,ds! _ :1] 1168 (2} 1254 litres o;aniixture of mitk and (1)6:5 (23;65 .3
5 3) 145 water, water is anly 30%. 12 ' :
1. ) Noﬂz of mes?’ 17 litres of mixture was taken 34:3 @Wa:1 .
& out and x litres of pure milk (6) None of these '
& '

e | | | |




B8. The cost 0f 20 folders and 16
pens js Rs. 985. What i3 the
cost of 12 folders and 9 pens ?
{1} Rs. 652
(2] Rs. 597
(3) Ra, 447
(4} Cannot be determined
{5} Nonie of these

B88. In a class of 30 students and
2 teachers, each student got
sweets that are 20% of the to-
tal number of students and
each teacher got sweets that
are 30% of the total number of
students. How many sweets
were there 7
(1} 188 {2} 180
(3} 208 {4) 178
{5) None of these

60. If an amount of Rs. 87836 is
distributed equally amongst 31
children, how much amount
would each child get ?
{11 Rs. 3756 (2] Rs. 3556
(3) Ra. 3356 (4) Rs. 3156
{5) Nome of these

61. If {38)? tz: added to the sguare
of a number, the anawer so0
obtained is 5668. What is the
number ?

(168 2) 33
347 {4) 51
{6) None of these

82. In an examination it is re-
quired to get 380 of the aggre-
gate marks o pass, A student
gets 32% of marks and is de-

. elared failed by 76 marks.
What are the meaxdinum aggre-
gate marks a student can get
2 .

[1) 945 (2) 975
(3y950

{4) Cannot be determined
{5) None of these ]

83. Which number should replace

both the question marks (?) in

the following equation ?

47
?

(1}83 (2) 124
- (3166 (4) 94
- B _None of these

64. A sum of THOneY !S'dﬂ:ﬂdﬁd

s words can be made fror
among A: B,.C and D b the letters EAP, ustrig eacl le g
rato of 4 : 63 11 : 13 ¥espe onl once in each wopd ? 8
ﬂvﬂy.!fthesharcdfCIsRs. !I:T - "[“i)'oi'fé‘: > 4 Al
7854, then what 1s the, total ()None - iy Tises ,
amount of money of B and D (3) Two @) Three All
together? = (5) Four . o s
" {1)Rs. 13,568 : Directions (73-76) : Ineay, = O
{2) Ra. 16,928 queaﬁunbelowm‘ethreestatmnmh: R A
(3) Rs. 12,784 followed by two conclusions nuz. 7, g
i bered I and II. You have {0 take thy .
[4) Rs. 15,676 three sta.tcmﬂltﬂ to bhe tl'l.le .- D
(5) None of these even ,,g'ﬂ,' Eey seem to be at vartaney o)
8. A single person takes 8 min- | com commonly known facts anj g %
utes to type a page. If from | b on Gectde which of the given ean.  yjo®
1.00 p.m. to 2.00 p.m., 1710 clustons Togically follows from_thu hdow
pages are tosbgl mt’;ffdh}ll?: ﬂn‘ecstatcmmfl: cgsregardmsm pEe
yany persons 9 ~ | monly knewn .
ployed on this job? Give answer (1) if only Con. ‘”.;rq
(1) 207 (23221 clusion 1 follows ) S
(3)249 ) 256 Give answer (2) if only Con-  9@°
(5) None of these clusion II follows " ‘1;_
- Give answer (8) if either Con. 10
REASONING ABILITY dusion 1 or Conclusion X follaws P
. iyt gt b Give answer (4) if neither Q.
9. Ilfr ;:;:?E :ﬁdg'sf:]ne:l?:s N lcnc:vnsclusion I1nor Conclusion Hfol-
them — :
4GRIZPSE 18092 Give answer (5) if both Con:

' clusions I and 1 follow quet
(15133 2) 14 71, Statements mex
{3) 36.5 416 ’ All are cars - two
{5)12 Jeeps ) tow

All cars are buses.
67. V1" is related to 'QQ’ in the :
same way as "MK is related to Some buses are trucks. du
(1) HF ©2)IG 1. Some jeeps are trucks. d
(B}RP (2)JG . All jeeps are buses.
Q0 72. Statements :
68. The positions of how many Some balls are rackets. dh
will remain the same if Some rackets are bats.
the digits in the number All bate are nets. G
35928164 arc rearranged in Conclusions 2
g;;?,?dmg order from left 1. Nonetis a ball a
(1) None {2) One 73 g Al rac:tests- are nets
{3) Two (4) Three ) CIERLS
{5) Mcre than three ﬁ computers pﬂntell's.
68. There are four bags T, S, V Allp nters are staplers
and W, each having different staplers are scanners.
- weight. Bag T 1s lighter oniy Conclusions : :
than S, V is lighter than W L. All printers are scanmners.
and W is lighter than T. Il. Some staplers are comput-
Which of the four bags ia the ers.
lightest? . 74. Statements : _
(ns 2w No drum is & guitar. -
QT v All guitars are violing, ~ .-
(8) Cannot be determined violing are flates.
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W'ant,: "3'_
i1 ROTY. |

1l .' ,:a it II
sucnts e €l ToRaFIECY |
(1) Csits to the immediate left

8. Which of the fellawing

s ‘gunsa:recarmans V&S l of D, o ‘
L an 80. 8 - i :
i | arrows are cannons, « Statements : . ., (2) None of the glven state-
AN jme cannons are bows WirxX XeYvywz .. ments is true -
- Conclustons : 1, W * .. {8) CfacesT.
iy 1. :Some guns are arraws, I g;ﬁ; {4) C faces one of the immedi-
R fj; ‘Some arrows are bows, mﬂmisl-as;-sm ate neighbours of V .
S : y the
na%i:: . Disoctions (76 —80) » 1y th | 010V information carefully and ) C sits to the jmmediate
ol ing questions, the symhols @, | o e aRestions given below ; | ght of B.
W] Dioving meaning as Wlustrated | sacn, o mpr Lngol fasing GF -
:%E ;dgw 1 rated | each, in such a way that mtherm v @T .
' Vpog means P is eith equal distance hetween adjacent BIR @ v
iy, 1o or greater than Q. o caual Prsons. lnrow-1, C, D. E, F,Gand (B) W _
o are seated (but not necessarily in Directions (86-90) : Follow:

the same order) and all of them are
facing South. mrow-2, R, S, T\ U,
V and W are seated (but not neces-

ng questions are based on the five
three digit numbers given betow :
7681 548 392 645 249

_ p 9% @ means P is smaller than
Con. ¢ .
P % @ means P is either equal

smaller than Q'. sarfly in th , _

Owg toor s . 8 mmmfmﬂmgg 88.1If ail the numbers are ar-

ithe @ @ means P is greater than | the given seating arrangement. each ranged in descending order
) member seated in a row faces an- from 1eft to right, which of the

U * ¢ ¢’ means ‘P is equal t0 ¢¥. following will he sum of all

other member of the other row.
the three digits of the num-
Con. Now in each of the following | - © sits fourth to the left of H. R _ -
» questions assufning the given state- faces one, of the imsnediate neigh- | ':i;:";ﬁch is second from the
ments to be true, find which of the bours of C. S sits to the immediate \
0 conclustons [ and I given be- | HERt o & Only three persons sit (115 (2118
defini P tween S and W. U sits seqond to (3) 14 4) 17
low them is/are definitely trae ? | o 1, g00; of W, One who faces Ussits (5)21

Give answer (1) if only Con-
clusion I is true.

to the immediate right of E. Vis not
an immediate neighbour of W. F sits

82. Who amongst the following is

87. What will be the resultant if

second digit of the hightest

be difference between the

o Give angwer, 2 if only Con- to the immediate right Of‘D. number is divided by first digit
’ clusion 1I is true. 81, What is the position of D with of the lowest number ?
Give answer (3) if either Con- respect o F1? (15 @22

- duslon [ or E is true. (1) Third to tt?;e ?ff?t % g 19
: either (2) Third fo the ' . :
- Oive smawer () 4 eS| g oo wergnt | SSTT BN UICTAN
. Give . (8) 1 both Con- (4) Second to the right . of every odd mﬁ&m& 1t i:‘ i
* dus answor. B : (5) Second to the left subtracted o
: fons I and II are true. every even number, what will

1 LaM MSN, N%E WrR- - @W e e o
{i  Conclusions: 1. KOL @ T ORY (1)569 {2)413
5 IL L*N 5V S (31@ (41512
' : . Four of the following five are (5) :
él W--Q;gtmenms 8 mmacerwnmr;gﬁmﬁm 9. If in each number all the dig-
R 4@B BBC,C *D the given arrangemént and its are arranged in descending
49 Conclusions : 1. DO B henice form a group. Which gne order from left to right within
P i IL C%A of them does not belong to the number, how many odd
1 78 E i . that group? ‘ numbers will be formed ?
a w& : 1} € (2) F (1) None {2) One
4 H%GC,00FF*E (0 @ T (3)Two . (@ Three




' ﬁommmcn SET-07 |l=—=

—f. oo T ’
ol : does mof helong 1o thy il bres
90, The pasitions of the firet and | 98. m ;fammw bzsfd o~ group? | . 2 (‘9’?:;
* the third digita of each of the Thete positions In the above () KE& (21453 . : _.-hmg,ﬂe
gumbers arc {nterchenged. p cnt and so form a (3 MES @ : . o calt
What will be the difference mmge\\l:}lu of: 1s the one that (5) @BL : : "'goﬂ 1
between the first and the last group. T00) 1 In sach question below 15 given a group of 5@ 'Ihc
digits of the second highest Dircctlons O or ed by fiva cornbinations of letters nurmtiered (3 ‘_(3) H
number thus formed? number/symbol follow 'o find out which of the combinations cor. ogniZ®
(e (2)2 (2), (3). (4) and (53}-1 You "a‘fmmber,s,mw based on the following cod. . (9 B
:g}; e rgﬂs!;r;g;:ﬂ;? mcemons and mark the numbers of that combing. ‘ 98‘1:1:
ter
Directions (91-96) : Study | HOR 88 your answer. ToTalol71a o T
the following arrangement careful- Number /| ol iglos| |5 (2] # 8|6 2 {imes
ly and anawer the questions given : U 3)Th
below : %WBFPMCIKAETQHR 7‘%@@
AQ2KF&E7S9NMZS$ Code the P
6 Conditions : symbol both gress
BWOVLEXxW4paAS@U# [i}g‘theﬁrsl;dmei;::évmnumberandthelasta eﬂm:
C ese are 10 ‘ square, the codes for 100!
91. Which of the following Is the | @)1 ﬁrs:h dmﬂtg gﬁ:{“"", a“g;d‘f‘f"t a perfect 8 qwo !
ninth to the left of the elgh- | oot foct am Jast clecents are symbols the codes for both these [ 2%
teenth from the leR end of the ars to be coded as the code for the iast symbol. Hen
above arrangement 7 96, #7983$ . viokt
g;f %g (KRPFUA @)ARUPFA | = ANSWERS B== 8. 7
4) KRPFUK : wre
(5} None of these Eg;m 4 L0 2@ | s@| 4@ :asr
92. How many such odd numbers | o, 652488 s@| em] 2@ &6 qual
are there in the above 8| (ECWMFH (2) SCWMFS o.5|10.(3 [11.(3) | 1228 tatis
rangement, SCWFMSR :
immediately preceded by a Eg; EH CWMFEc] IWFS (4 &CW 13.(2) | 14.{2) | 16.13) | 16, (1} m
consonant and also immedi- 98. B47829 17.(5) | 16.(3) | 19.(2) | 20. (2 verr
ately followed by a conso- (1) TQRAWT (2) TQAWRB 21.[61 | 22.() 1 23.(9) | 24.(1) 2. (5)
nant? (3) BQRAWT  [4) TQRAWE 25 @l2e0) 12724 ) 286 Uni
(1) None :3 One (6) BQRAWB 20.(9) | 30.(2) | 81.(5) | 52.9 use
i (3) Two Three 00, BA2AGH ‘ ; 8ot
'8 (5) More than three (1) SAWQES (2} CAWQEK :‘ ﬁi :; S; :i‘:’} ::'::; il
v 8. If all the Istters and symbols (3 KAWQEC (4} CAEWQK : | 0. e
¥ are dropped from the above {3) KAWQEK 41.05)142.(2) 145.3) | 4.0 He
" arrangement, which of the fol- | 100.%78%34 5.5 | 46.5) | 47.@ | 48.(9 an
. lowing will be the sixth from (L)MRFPUQ  (2) QRPUFM 49.@ | s0.() | 51. 2 | 52, 3 10.(3)
the left end of the above ar- (3) GRFPUM  (4) MRFFUM 83.(3) | 54.15 | 55. (51 | 35. (1) Ba
] rangement ? (6} SRFPUS . pa
H )7 @8 67. 1) | 88. (2) | %0.(5) | 60. {1 to
el @3 ()6 STEINEC 62.05]162.1) |63.@ | 6400 50
i 5)4 FOR 65. [5) | 86. (5) | 67.(1) | 68.(1) Lk
il 94. How many such symbols are 8941703 171 | 72. 1) o
I * there in the above arrange- LATEST VACANCIES 73.() | 74. (1) | 78.(a) | 76.0) fn
g ment, each of which 18 imme- and Dates of 7. H
g . > O ) ) 78.14) | 70.(5) | 80. 14} | a
- diately preceded by a number | | Written Examinations sL (5} | 82, 2 )
) and also immediately followed | | } ) 2 1880 jeally  w
7 L by a letier ? og on our website :| || 880} [e6.(3) |s7.m [s8.00 ] i
{1) None (2) One www.kiranprakashan.co 59.00190.6) |oL() fen@) ?
(3) Two (4) Three 93.6)94.(3) [08.(2) [ 088} w;
(8) More than three 97.01 [ 06.(4) | 08.(2) 100,81 |
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1. passageis:to

@ he clatmed he wag

T '} 1 sent by Lord Indra to look af-

: i ¢.(1) That he be served at an
e, HmES.:
/| | 7.(3) The meaning of the word |

Fierse (Adjective) as used in

‘1 the passage is : angry and ag-

ol ve in a way that is -

- _amg:violent.y o fright

Look at the ceatences :

Two flerce eyes glared at them,

I saw a fierce dog,

: Hence. the words flerce and
violent are synonymous.

{5) The meaning of the word

- Lare (Noun) as used in the

} ' passage is: the attractive

! qualities of something; temp-

1 -tatiom.

| Lookat the sentence :

! Few can resist the lure of ad-

3

. venture,

" 1 b.(5) The meaning of the word

. Unexpected (Adjective) as

|
i used in the passage is : if

| . something is unexpected, it
{ surprises you because you were
i © not expecting it; unusual.

| Hence, the words unezpected
it and wemal are antonymous.
10,(3) The meaning of the word
| - Banish (Verb) as used in the
order somebody

to-leave a place; to get rid of

"t : spomebody feomething,

[’ Look af the sentence :

1 The children were banished
: 7| from the dining room.

1! Hence, the words banished

‘énd ‘dncluded are antony-
| gf.He;'q, Past Perfect Continu-

si..;as she had not been
ould be uged.

shot
¢ ﬁform of [infinttive 18 @

| Stk
s Ge)

Hence, : 1 =
should bzeust;:?m to enroll..
18, .(2} Here, use of
OR’ is superflueug,

14, gsl'll;emel’resent Perfect i.e.
country ..... should

be useg,
18, .(3} In Simple Present Negative)
doesn't’ Is used with third
bPéraon singular number.
Hence, because she doesn't
16 s[l;)ould be used,

- \1}The appropriate word
sh:ﬂm s wandered (wander
= to slowly t :
il Iy to & place

18. (3) Captivate = o keep some-
body’s attention; enchant.
, Imprison = to put somebody
in a prison ; prison.
Hence, captivated should be
uised here.
19. (2) The correct spelling is : bear
= a wild animal with thick fur
on the body.
20. (2) The correct spelling is : flea

Preposition | ;

200 30 .o
W v
| _550x48 _150x10
00 100

=80+ 7 =264-18

=7=240-680=189

= 7= 189 x 180 = 35721
36.(4)?=11.6x89x08.1

= 626,524

36, [4)

2697 _
o — = T,
az.(lv= % 25

98. (1) 144 + (?P =225
= [P =226-144 =81

=?=Jﬁ=9
546x 66 439%43

= g very smzll jumping insect
without wings,
21.{5}) D Z2.(1) A
23.3) E 24.(1)C
28. (4 F
26. (1) plece
27. (4) thought
28, {3) abruptly
209, (4) resumed
80. (2) foolishmess

_ 15x11+45
31.(5?= T5x5-30

165+45 _210 _70 _,12
=317-30 87 20 28

39852

32.00 —

=81x12

= ? = 41x41 = 1681

44
——+7=800
33.(2) 766xwo+

= 337,04 +? =900
= ? = 800 - 337.04
= 562.96

99.14) 7= g 100 .

= 360.36 - 188.77
=171.59
40, {3) 3844 + 196 = (7) + 559

= 4040 = {7)* + 550
= (7] = 4040 - 559 = 3481

=?= J34B1 =59

41, (3) Total number of visitors to
all Museums on Sunday

=712 + 702 + 672 + 725 + 685
= 3496 . .
£ Total number of visitors to
all Museums on Monday

3496 %126
100

(2) Number of visitors 1o
Museumn D on Thursday and
Friday : .
= 102+ 184=288
Number of yisitors to Museum
B on Friday and Saturday .
= 162 +498=650 .
. Required percent

=4370 -

42,




" 48, {3) Required average

49, (2) Total cost of the plot

T

PHACTICE SET-07 |

159+512+685 13586
= 3 E
= 452
44. (5) Visitors to Museum :
Wednesday = 112
Friday = 163
4 Required percent increase

- (.1..‘39‘_‘1.12) x100
112

= m - 45%
112

48. (5) Required ratio
= (144 + 168} : (123 + 128)
=2312:252=26:21

48. [5) Let the number be x.
According to the question,
[53-41)%0fx=660

=-xx-1-5—=660
100

680 x 100
o 860X10Y _ 4100
*=="15

8% of 4400

4400x 8

- 100 =352
47, (3) The given number series is

based on the following pattern:

1x3+2=5

5x3+2=17

17x3+2=53

BAx3+2=161

161 x3+2=485

A 7=483x342

= 1455 + 2 = 1457

8.1, x100

48.(4) PA= pp el Time

_ 8864100 K
12450x6
= 12% per annum

= Rs. (575 x 5500)
=Rs, 3162500

25
= 3162500 x

w.(x)a’?xas:'ﬂss

51. (2] Let even numbers be
sx x+2, x+t4and x+6
Odd numbers be _
=X+ l.£+3.x+5andx+7
According to the question,
x+6+x+7=3
= 2x=33-13=20
= x=10

~ Required sum
=X+tX+2 4+ X+ 4 Xb6+XF
Y+ x+3+x+5bx+7

=28x+28=8x10+28
=80+28=108

B2. (3) Let the numbers he 4xand
Tx
According to the queston,

125
dx¥=——+3 2
— 100 _ =

2x7Tx+3 5

Sx+3 2

= 14x+3 B

= 2Bx+6=25x+ 19

= 28x -25x=15-6= 3x=9

= x=3

s Y=Tx=7Tx3=21
53. (3 In 60 — 12 = 48 litres of

mixture, :

Ik 48 %70 :?»3 m
M ﬁ—-——mo = 33.6 litres

48 x 30

oo~ 14.4 lives

Let x Mires of pure milk be

According to the question,

144 '
48+ X

1440
48+ x

Water =

x100 =18

= =18

. - 1440
- = A8+ x="Tg 18 ——jBO

= x=30_-48.=32 litres
B4. (S} Amount -

o Booking aingunt

= Rs. (0300+4092) ..
=R3, 13§9_3_£i-1'::‘--"' P -

o

2
18392 _ (1 + _3__-]

= "8300 100

2

144 R )
2 oy
= 100 [1 100

ROy

22
= 7700 © 10

R _12 . 2
= 00 10 " 10

2 .
=>R=E x* 100

= 20% per annum

New rate = 20- 10
= 10% per annhum

=9300 [(1*5%)2 - ]
ool ]

121
=9300(100 - 1]
_9300%21 .

§8. (6) A's monthly salary = Rs: *

(let)

Percentage expenscs on EM
and miscellaneous items
=60%

Remaining salary

40x
= Rs‘[ mo]




!

]

© ¢ = 12x%4 Oy = Re, 597

20x20 ° o
-al)x
Y 60 6x 100 =180 :
Do =Tg %00 TS gy Number of sweets '
el given to two |-
According to.the question,
. —a,, 30x30
-.g-"g =22560 =2 =18
= Bx <+ Required number of sweets
=22560 x 25 co. ?130+18= 198
' 4) Amou
. 2256025 gt received by cach
= &= &
= Rs. 94000 =Rs. [9-7391?3]
& B's monthly salary
< 75% of 94000 - = Rs. 3156
04000% 75 - €1. (5) Let the number be x.
= ———"= = Rs. 70500 According to the question,
100 X+ (B8]t w 5668
B@.(1) Cost price of the tdcvislm =2 + 3364 = 5668
100 = X% = 5668 - 3364 = 2304
=Rs. | —=x16588 _
118 =./2304 =48
= Rs. 14300 62. (3) According to the gquestion,
§7.[4) Let the present ages of the ?23;201‘7 o umn marks
tnan and his son be 11x and T
Arcording to the question, = 3042100 =950
11x+Bx=2 x 48 2
= 16x=96 83. (4) (P = 188 x 47
"g8 =47 x4 »x 47
=x=§=6 =?=47x2=94
84. (1) Let the amount = Rs. x.
« Present age of the man Sum of ratios
={11 x 6) years = 66 years =4+6+11+13=34
Present age of the son According to the question,
= (5 x 8) years = 30 years C's share = Rs. 7854
Required ratio after 6 years 11
={86+6): (30 +6) =>—32xx Rs.7854
=272:36=2:1
. . 34
88, (2) Let CP of 1 folder be Rs. x =»x=";5*fT"—
and that of 1 pen be Rs. .
According to the question = Rs. 24276
20x + 16y = 995 ~ Amount received by B and D
- Dividing both stdes by 5. ' 19
=4x+ 3y =199 nFls{3—4-x24276]
S3Wlx+3y=3x199
= Rs, 13566

89. (5) Nuraber of sweats .
a.ll students givm to

g ler
) 8 minutes 1‘ l ]
80 mlnules 4710
thx:nmnberofrqm
B0 : 8 } 1
.1 ¢ 1710 X .
HBOxlxx-&xl?let

8x1710 _ 0 P
60

= x=

66. 546 R12P38 1809 -
= ?=248-12%53+18+9
=?=46-36+2=12

87. 1) vV—0
T—2,0
Similasly,
=%

M——H

[{i)]?

68, (1)
3592281
1 23 465 6
69. @) S>T>»V.W
T>W>»V
Now, S>T>W>V

6 4
g8 9

70. (3} Meaningful Words = APE,

PEA
(71-76) :

(1) All jecps are cars - Universal
Affinmative (A-type).

(i1) Some buses are trucks — Par-
ticular Afirmative (-type).

(i) No drum is a guaitai — Um-
versal Negative (E-type).

{iv) Some drums are not guitars
-+ Particular Negative (O-
type).

71. (2)

All jeeps are cars,

All ear's are buses.
A+ A = A-type of Conclusion
“All jeeps are huses.”
This 1s Conclusion 1.
72. (4)

" Some rackets are bats.
All batS'are nets. |
1+ A = I-type of Contlusion

(3C8E-91) b=

“Some rackets are neis”




Al pﬂnte;s are staﬁlers.

it.

This i3 Conclusion L
74. (1) No drum is guitar.

sion

All guitara are viollns.

Some violins are flutes.
A + [ = No Conclusion.

the second Premise.
78, {4) All guns are cannons.

(76 -80):
®==
= >

] 76, (I L% M=L2 M
¥ MS$N=M=N

G=<
=y

g

AT e R

i NWK=N<K

i Therefore, LxM=N<K
3 Conclusions ! _

3 L KEL=K>L:Tre
23 I.LA*N=L<N:True

77. {2AOB=A3B
B&@C=B>C
i CAD=»CgD
3 Thereforé, A»B>C<D
i Conclusions ¢

T e e e e T e
r—r

ILC%A=CxA:True
78 WH%G=sH<G
GOF=GF
F*EaFgE
Therefore, H< G2 F< B

All mint‘:ri/n'esta"ﬂers.

All staplers are scanners.
A + A = A-type of Conclusion
"All printers are scanners,”

All guitars are violins.
E + A = Oy-type of Conclu-

Some cannons are bows.
A + ] = No Conclusion

T D@B=DzB:Not'h'ue

All compaters are printers.

A + A = A-type of Conclusion
“All coputers are staplers.”
Conclusion 1T {s Converse of

“Some violins are not drums."”

Concinsion { is Converse of

%

mﬂmim:
. R@TmR>T:True
ILVAS=V45:True
80. (Wh X=2WxX
X@YoWxY.
YWZ=Y<2Z
Therefore, W X>Y<Z
Conelunions @
L W% Y=W<Y:Not True
NLZ@W=Z>W: NotTrue
(81-88):

[Swo] [mo—]

-:;Q...m |-1=1m~| .

81. [5)D sits second to the left of
H. :

82. (2) W 1s facing H.

83. [3)V is sithing at the extreme
end of the row.

84. [@CBitstoﬂ'leiImnediate left
of E. :

Cfaces S.

85. (1)Vis facing G.

86. (3) 761 > 845 > 548 > 392 >
240
Requiredsum=3+9+2—
14

87. (5) Highest number = 761

Lowest number = 249

|88, (1) 781 = 861; 645 = 748;

249 = 349;
© 392 =292
. 861-202=569
89. {2) 761 = 761; 548 854;
392 = §32; B45=654;
, 249 =942 .
90.(5]?61:@167- »543:1345.
892:#293: 46453543
. 240 bl

548 = 248:

92. (2} + L. ! l.- -
OddNumbg: Ca

[Consonant | i ?p@ b
There is only ane such mru; ] -f' o
bination : R g«wﬂf
99, (5} Aocord!ngtoqueeuan &E ; me‘
newsequencewouldrbe ] tien
27 96 3 18 55 @
| ' - ar0
6thfrmntheleftend : gde
94- k] ) ]::];
Number | Symbol Letu,,- b
Such combinations are ¢ : :}:
He
. of )
r—tsp—doa o
4—'—"'-)5——----).l 3 gl'i
e—2 8- 5L ; :Ji:
o8. Bl# 7 % 8 8 & _ z
44431 o
ARPFUA o
il il | E

. ECWMF S .
Conditton () is applicable.. = |
T@GRAWSB R
Conditlon () 1= applicahle,. i
990(2]53246# f E:

100. ()% 7 8 % 814 ° I !

SEOas ST

‘O R F;;s:u




